

Because learning changes everything."

QUOTE PREPARED FOR:

Livonia Public Schs 15125 FARMINGTON RD LIVONIA, MI 48154-5474 ACCOUNT NUMBER: 330369

CONTACT:

Jennifer Cory jcory@livoniapublicschools.org (734) 744-2500

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Cory jcory@livoniapublicschools.org (734) 744-2500

SALES REP INFORMATION:

Kevin Clark kevin.clark@mheducation.com 248-423-0369

Section Summar	ry	Value of All Materials	Free Materials	Product Subtotal
EM 4 2020 3yr quote		\$424,510.50	(\$172,990.50)	\$251,520.00
	PRODUCT TOTAL*	\$424,510.50	(\$172,990.50)	\$251,520.00
	ESTIMATED S&H**			\$7,025.40
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$258,545.40

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 02/10/2022 ACCOUNT NAME: Livonia Public Schs EXPIRATION DATE: 03/27/2022

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

.



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
EM 4 2020 3yr quote					
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE K	978-0-07-701134-5	0	\$48.24	\$0.00	*Free Materials
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE 1	978-0-07-701138-3	1000	\$78.63	\$78,630.00	*Free Materials
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE 2	978-0-07-701139-0	1000	\$78.63	\$0.00	\$78,630.00
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE 3	978-0-07-701143-7	1000	\$78.63	\$0.00	\$78,630.00
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE 4	978-0-07-701036-2	1000	\$78.63	\$0.00	\$78,630.00
EVERYDAY MATH ESSENTIAL STUDENT MATERIALS SET 3 YEAR SUBSCRIPTION BUNDLE GRADE 5	978-0-07-701040-9	0	\$78.63	\$0.00	\$0.00
Teacher License		,	1		
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE K	978-0-07-700876-5	50	\$225.87	\$11,293.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE1	978-0-07-700881-9	50	\$294.99	\$14,749.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE2	978-0-07-700924-3	50	\$294.99	\$14,749.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE3	978-0-07-700928-1	50	\$294.99	\$14,749.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE 4	978-0-07-700933-5	50	\$294.99	\$14,749.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER CENTER 3 YEAR SUBSCRIPTION GRADE 5	978-0-07-700938-0	0	\$294.99	\$0.00	\$0.00
Teacher Guides		,	1		
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE K	978-0-07-703840-3	50	\$59.43	\$0.00	\$2,971.50
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE K	978-0-07-703823-6	50	\$59.43	\$2,971.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE 1	978-0-07-703827-4	50	\$84.39	\$0.00	\$4,219.50
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE 1	978-0-07-703828-1	50	\$84.39	\$4,219.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE 2	978-0-07-703832-8	50	\$84.39	\$0.00	\$4,219.50

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691 QUOTE DATE:

02/10/2022

KCLARK-02092022-002

ACCOUNT NAME: Livonia Public Schs ACCOUNT #: 330369

EXPIRATION DATE: 03/27/2022

PAGE #:



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE 2	978-0-07-703833-5	50	\$84.39	\$4,219.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE 3	978-0-07-703841-0	50	\$84.39	\$0.00	\$4,219.50
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE 3	978-0-07-703842-7	50	\$84.39	\$4,219.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE 4	978-0-07-703843-4	50	\$84.39	\$4,219.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE 4	978-0-07-703844-1	50	\$84.39	\$4,219.50	*Free Materials
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 1 GRADE 5	978-0-07-703845-8	0	\$84.39	\$0.00	\$0.00
EVERYDAY MATH NATIONAL TEACHER LESSON GUIDE VOLUME 2 GRADE 5	978-0-07-703846-5	0	\$84.39	\$0.00	\$0.00

EM 4 2020 3yr quote Subtotal: \$172,990.50 \$251,520.00 QUOTE DATE: QUOTE NUMBER: 02/10/2022

KCLARK-02092022-002

ACCOUNT NAME: Livonia Public Schs ACCOUNT #: 330369

EXPIRATION DATE: 03/27/2022

PAGE #:





QUOTE PREPARED FOR:

Livonia Public Schs 15125 FARMINGTON RD LIVONIA, MI 48154-5474 ACCOUNT NUMBER: 330369

CONTACT:

Jennifer Cory jcory@livoniapublicschools.org (734) 744-2500

VALUE OF ALL MATERIALS	\$424,510.50
FREE MATERIALS	(\$172,990.50)
PRODUCT TOTAL*	\$251,520.00
ESTIMATED SHIPPING & HANDLING**	\$7,025.40
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$258,545.40

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Cory jcory@livoniapublicschools.org (734) 744-2500

Comments:			

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:		
Name of School Official (Please Print)	-	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 02/10/2022 ACCOUNT NAME: Livonia Public Schs EXPIRATION DATE: 03/27/2022

QUOTE NUMBER: KCLARK-02092022-002 ACCOUNT #: 330369 PAGE #: 4